Algebra CC Zoom 3
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Quadratic Equations by Completing The Square
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1. Be sure that the coefficient of the highest power is one. X 8X ~+8 ‘89
If it is not, divide each term by that value to create a 3
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2. Move the constant term to the right hand side.
3. Prepare to add the needed value to create the perfect 8 > 2
square trinomial. Be sure to balance the equation. The ((7 2 ( NG 615 q)
boxes may help you remember to balance. 5 ‘
4. To find the needed value for the perfect square x T tkx vl =AY
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Let’s try a few more examples.
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1) Steve wants to have a walkway installed around his rectangular pool. The pool is 10 feet
long and 6 feet wide. The widt

Ilkway measures x feet. Together, the walkway
and the pool cover an area of 192 square fee

a) Write an equation that can be used to find the width of the walkway.

2x+6 Y Ax+10) = |94
b) Solve your equation to find the width of the walkway.
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2) Steve wants to have a walkway installed around his rectangular garden. The garden is 5
feet long and 9 feet wide. The width

of the walkway measures x feet. Together, the
walkway and the garden cover an ar'ea

igre feet.

a) Label the diagram pictured below to reflect the situation described.
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b) Write an equation that can be used to find the . width of the walkway.
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